
Math 262
Exam 3 - Practice Problems

1. Evaluate the following integrals:

(a)

∫

sec3
x tan3

x dx

(b)

∫

x
2

x2 + 9
dx

(c)

∫

x
2

√

9 − x2
dx

(d)

∫

x
2

√

x2
− 9

dx

(e)

∫

3x

x2
− 3x − 4

dx

(f)

∫

x
3 + x + 2

x2 + 2x − 8
dx

(g)

∫

3x + 8

x3 + 5x2 + 6x
dx

(h)

∫

x + 2

x3 + x
dx

(i)

∫

4

x2 + 2x + 10
dx

(j)

∫

4

(x2 + 2x + 10)
3
2

dx

(k)

∫

3x − 1
√

12 − 4x − x2
dx

(l)

∫

3x + 5
√

3x + 1
dx

(m)

∫

x
2

(3x + 4)10
dx

(n)

∫

1
4
√

x + 3
√

x
dx

(o)

∫

1

0

x
−

1
3 dx

(p)

∫

∞

1

x
−

1
3 dx

(q)

∫

2

0

x
√

4 − x2
dx

(r)

∫

2

0

1
√

4 − x2
dx

(s)

∫

2

0

1

4 − x2
dx

(t)

∫

∞

−∞

1
3
√

x
dx



2. Find each limit, (if it exists).

(a) lim
x→1

sin(πx)

x − 1

(b) lim
x→1

e
x−1

− 1

x2
− 1

(c) lim
x→∞

lnx
√

x

(d) lim
x→∞

x sin

(

1

x

)

(e) lim
x→0

x sin x

cos x − 1

(f) lim
x→∞

(

√

x2 + 1 − x

)

(g) lim
x→0

sin x

cos x

(h) lim
x→∞

(

1

x

)
1
x

(i) lim
x→0+

(cos x)
1
x

3. Use a comparison to determine whether the following integrals converge or diverge:

(a)

∫

∞

1

x

1 + x3
dx

(b)

∫

2 + sin x
√

x
dx

(c)

∫

∞

2

x

x
3
2 − 1

dx

(d)

∫

∞

0

sin2
x

1 + ex

dx


